NBER WORKING PAPER SERIES

SHOULD ROBOTS BE TAXED?

Joao Guerreiro
Sergio Rebelo
Pedro Teles

Working Paper 23806
http://www.nber.org/papers/w23806

NATIONAL BUREAU OF ECONOMIC RESEARCH
1050 Massachusetts Avenue
Cambridge, MA 02138
September 2017, Revised January 2019

We thank Gadi Barlevy, V.V. Chari, Bas Jacobs, and Nir Jaimovich for their comments. Teles
thanks the support of FCT as well as the ADEMU project, “A Dynamic Economic and Monetary
Union,” funded by the European Union's Horizon 2020 Program under grant agreement N°
649396. The views expressed herein are those of the authors and do not necessarily reflect the
views of the National Bureau of Economic Research.

NBER working papers are circulated for discussion and comment purposes. They have not been
peer-reviewed or been subject to the review by the NBER Board of Directors that accompanies
official NBER publications.

© 2017 by Joao Guerreiro, Sergio Rebelo, and Pedro Teles. All rights reserved. Short sections of
text, not to exceed two paragraphs, may be quoted without explicit permission provided that full
credit, including © notice, is given to the source.



Should Robots be Taxed?

Joao Guerreiro, Sergio Rebelo, and Pedro Teles
NBER Working Paper No. 23806
September 2017, Revised January 2019

JEL No. H21,033

ABSTRACT

We use a model of automation to show that with the current U.S. tax system, a fall in automation
costs could lead to a massive rise in income inequality. This inequality can be reduced by making
the current income-tax system more progressive and by taxing robots. But this solution involves a
substantial efficiency loss. A Mirrleesian optimal income tax can reduce inequality at a smaller
efficiency cost. An alternative approach is to amend the current tax system to include a lump-sum
rebate. With the rebate in place, it is optimal to tax robots as long as there is partial automation.

Joao Guerreiro

Department of Economics
Northwestern University
Evanston, IL 60208

Evanston, IL 60201

United States
jguerreiro@u.northwestern.edu

Sergio Rebelo

Northwestern University
Kellogg School of Management
Department of Finance
Leverone Hall

Evanston, IL 60208-2001

and CEPR

and also NBER
s-rebelo@northwestern.edu

Pedro Teles

Banco de Portugal

R. Francisco Ribeiro 2

1150 Lisboa

Portugal

and Univ Catolica Portuguesa and CEPR

pteles@ucp.pt



1 Introduction

The American writer Kurt Vonnegut began his career in the public relations division
of General Electric. One day, he saw a new milling machine operated by a punch-card
computer outperform the company’s best machinists. This experience inspired him to
write a novel called “Player Piano.” It describes a world in which school children take
a test at an early age that determines their fate. Those who pass, become engineers
and design robots used in production. Those who fail, have no jobs and live from
government transfers. Are we converging to this dystopian world? How should public
policy respond to the impact of automation on the demand for labor?

These questions have been debated ever since 19th-century textile workers in the
U.K. smashed the machines that eliminated their jobs. As the pace of automation
quickens and affects a wide range of economic activities, Bill Gates re-ignited this
debate by proposing that robots should be taxed. Policies that address the impact of
automation on the labor market have been discussed in the European Parliament and
have been implemented in South Korea.

In this paper, we use a simple model of automation to compare the equilibrium that
emerges under the current U.S. tax system (which we call the status quo), the first-best
solution to a planner’s problem without information constraints, and the second-best
solutions associated with different configurations of the tax system.

Our model has two types of workers which we call routine and non-routine. Routine
workers perform tasks that can be automated by using intermediate inputs that we

refer to as robots.!

We find that robot taxes are optimal as long as there is partial
automation. These taxes increase the wages of routine workers, and decrease those of
non-routine workers, giving the government an additional instrument to reduce income

inequality. With full automation, it is not optimal to tax robots. Routine workers no

1See Acemoglu and Autor (2011) and Cortes, Jaimovich and Siu (2017) for a discussion of the
impact of automation on the labor market for routine workers.



longer work, so taxing robots distorts production decisions without reducing income
inequality.?

We model the current U.S. tax system using the after-tax income function proposed
by Feldstein (1969), Persson (1983), and Benabou (2000) and estimated by Heathcote,
Storesletten and Violante (2017). With this tax system, as the cost of automation falls,
the wages of non-routine workers rise while the wages of routine workers fall to make
them competitive with robot use. The result is a large rise in income inequality and a
substantial decline in the welfare of routine workers.

The level of social welfare obtained in the status quo is much worse than that
achieved in the first-best solution to an utilitarian social planner problem without in-
formation constraints. But this first-best solution cannot be implemented when the
government does not observe the worker type. The reason is that the two types of
workers receive the same level of consumption but non-routine workers supply more
labor than routine workers. As a result, non-routine workers have an incentive to act
as routine workers and receive their bundle of consumption and hours worked.

To circumvent this problem, we solve for the optimal tax system imposing, as in
Mirrlees (1971), the constraint that the government does not observe the worker type or
the workers’ labor input. The government can observe total income and consumption
of the two types of workers, as well as the use of robots by firms. We assume that
taxes on robots are linear for the reasons emphasized in Guesnerie (1995): non-linear
taxes on intermediate inputs are difficult to implement in practice because they create
arbitrage opportunities. A Mirrleesian optimal tax system can improve welfare relative
to the status quo. In fact, it can yield a level of welfare that is close to that of the

first-best allocation.

2These results show that the reason why it can be optimal to tax robots in our model differs from
the rationale used by Bill Gates to motivate robot taxation. Gates argued that robots should be taxed
to replace the tax revenue that the government collected from routine workers before their jobs were
automated. In our model, when there is full automation the government collects no tax revenue from
routine workers yet it is optimal not to tax robots.



We also study the optimal policy when the tax schedule is constrained to take a
simple, exogenous form. We consider the income tax schedule proposed by Heathcote,
Storesletten and Violante (2017) and linear robot taxes. We compute the parameters
of the income tax function and the robot tax rate that maximize social welfare. We
find that income inequality can be reduced by raising marginal tax rates and taxing
robots. Tax rates on robot use can be as high as 30 percent. Routine workers supply a
constant number of hours over time even though their wages fall. This solution yields
poor outcomes in terms of efficiency and distribution.

We consider a modification of the Heathcote, Storesletten and Violante (2017) tax
schedule that allows for lump-sum transfers that ensure that all workers receive a min-
imum income. We find that this modification improves both efficiency and distribution
relative to a tax system without transfers. Hours worked by routine and non-routine
workers diverge over time. Full automation occurs in finite time, so hours worked by
routine workers fall to zero. Once full automation occurs, routine workers pay no in-
come taxes and the tax system can be designed so that the labor-supply decisions of
non-routine workers are not distorted. The economy with full automation resembles
the world of “Player Piano.” Only non-routine workers have jobs. Routine workers live
off government transfers and, despite losing their jobs, are better off than in the status
quo. The fact that full automation occurs in finite time reflects the rudimentary nature
of the tax system available to the government. When the government has access to a
more flexible non-linear tax schedule, as in the Mirrleesian solution, full automation
occurs only asymptotically.

One might expect optimal robot taxation to follow from well-known principles of
optimal taxation in the public finance literature. We know from the intermediate-goods
theorem of Diamond and Mirrlees (1971) that it is not optimal to distort production
decisions by taxing intermediate goods. Since robots are in essence an intermediate
good, taxing them should not be optimal.

The intermediate-good theorem relies on the assumption that “net trades” of differ-



ent goods can be taxed at different rates. In our context, this assumption means that
the government can use different tax schedules for routine and non-routine workers.
We study two environments where there are limits to the government’s ability to tax
different workers at different rates, Mirrlees (1971)-type information constraints and
a simple exogenous tax system common to both types of workers. We find that it is
optimal to tax robots in both environments.

This finding seems to contradict the key result in Atkinson and Stiglitz (1976). These
authors show that when the income tax system is non-linear it is not optimal to distort
production decisions by taxing intermediate goods. But, as stressed by Naito (1999) and
Jacobs (2015), Atkinson and Stiglitz (1976)’s result depends critically on the assumption
that workers with different productivities are perfect substitutes in production. This
assumption does not hold in our model. Taxing robots can be optimal because it affects
relative productivities, loosening the incentive constraint of non-routine workers.

We extend our model to allow workers to switch their occupations by paying a cost.
In the first-best solution, workers who have a low cost of becoming non-routine workers
do so. Those with a high cost become routine workers. In the Mirrlees solution to the
model with occupational choice, it is optimal to use robot taxes to loosen the incentive
constraint of non-routine workers. The planner can use the income tax schedule to
redistribute income or to induce more agents to become non-routine workers. When
the cost of becoming non-routine are high (low), the planner resorts more (less) to using
the income tax schedule to redistribute income.

We generalize our static model to a dynamic setting in which robots are an invest-
ment good. The properties of the Mirleesian solution of the dynamic model are similar
to those of the static model. It is optimal to tax robots to loosen the incentive con-
straint of non-routine workers. The levels of taxation are similar to those of the static
model. The tax rate on robots converges to zero as the degree of automation converges
to one.

The paper is organized as follows. In Section 2, we describe our static model of



automation. Subsection 2.1 describes the status-quo equilibrium, i.e. the equilibrium
under the current U.S. income tax system and no robot taxes. Subsection 2.2 describes
the first-best solution to the problem of an utilitarian planner. In subsection 2.3, we
analyze a Mirrleesian second-best solution to the planner’s problem. In subsection 2.4,
we study numerically the optimal tax system that emerges when income taxes are con-
strained to take the functional form proposed by Heathcote, Storesletten and Violante
(2017) both with and without lump-sum rebates. In subsection 2.5, we compare the
implications of different policies for social welfare and for the utility of different agents.
Subsection 2.6 discusses the model with endogenous occupation choice. In Section 3,
we analyze a dynamic model of automation. Section 4 relates our findings to classical
results on production efficiency and capital taxation in the public finance literature.
Section 5 concludes. To streamline the main text, we relegate the more technical proofs

to the appendix.

2 A simple model

We first discuss a simple model of automation that allows us to address the optimal
tax policy questions posed in the introduction. The model has two types of households
who draw utility from consumption of private and public goods and disutility from
labor. One household type supplies routine labor and the other non-routine labor.
The consumption good is produced with non-routine labor, routine labor, and robots.
Robots and routine labor are used in a continuum of tasks. They are both perfect

substitutes in performing these tasks.?

Households There is a continuum of unit measure of households. A mass m, of

households is composed of non-routine workers while 7, households are composed of

3See Autor, Levy and Murmane (2003) for a study of the importance of tasks performed by routine
workers in different industries and a discussion of the impact of automating these tasks on the demand
for routine labor.



routine workers. The index 7 = n,r, denotes the non-routine and routine labor type,
respectively.

An household of type j derives utility from consumption, c¢;, and from the provision
of a public good, G. The household also derives disutility from the hours of labor it
supplies, [;. Households have a unit of time per period, so [; < 1. The household’s
utility function is given by

Uj = u(cj, lj) + v(G). (1)

Denote by u, = du(c,1)/0x where x = ¢, and u,, = 0*u(c,1)/0xdy. We assume
that u. > 0, u; < 0, U, uy < 0 and that consumption and leisure are normal goods:
Uie /U — Uee/ue > 0, and uy /u; — ug/u. > 0, where one of these conditions is a strict
inequality. Furthermore, we assume that utility satisfies the single-crossing property,
which is equivalent to assuming that uyl/u; + 1 — ugyl/u. > 0. Finally, we assume that
V'(G) >0, v"(G) < 0 and that u(c, 1) satisfies standard Inada conditions.

Household j chooses ¢; and [; to maximize utility ((1)), subject to the budget
constraint ¢; < w;l;—T(w;l;), where w; denotes the wage rate received by the household

type j and T'(-) denotes the income tax schedule.

Robot producers Final good producers can use robots in tasks i € [0,1]. The cost
of producing a robot is the same across tasks and is equal to ¢ units of output. Robots
are produced by competitive firms. A representative firm producing robots chooses x;
to maximize profits p;x; — ¢x;. It follows that in equilibrium p; = ¢ and profits are

Zero.

Final good producers The representative producer of final goods hires non-routine
labor (N,,), routine labor (n;) for each task i, and buys intermediate goods (z;) which
we refer to as robots, also for each task i. There is a continuum of tasks that can be
performed by either routine labor or robots. We denote by m the fraction of these

tasks that are automated, i.e. performed by robots. For convenience, we assume that



automated tasks are those in the interval [0, m].t

The production function is given by

m.o p—1 1 p—1 ﬁ(lfa)
Y:A[/ xi”di+/ ni”dz} Ng, a€(0,1), p€[0,00). (2)
0

m

The problem of the firm is to maximize profits, Y —w, N,,—w, f; nidi—(147,)¢ [ xdi,
where Y is given by equation ((2)). The variable 7, is an ad-valorem tax rate on
intermediate goods.

The optimal choices of N, x; for i € [0,m], n; for i € (m,1] require that the
following first-order conditions be satisfied:

aY
n — 7 3
wn =5 )

m p—1 1 p—1 -1 1
(1+7m)p=>01-a)Y (/ x5’ ds+/ ns” ds) x, *, for i € [0,m], (4)
0 m

mo -1 I Nt
w, =(1—a)Y (/ xs” ds+/ ns” ds) n; *, fori € (m,1]. (5)
0

It follows that it is optimal to use the same level of routine labor, n;, in the 1 —m tasks
that have not been automated and that the optimal use of robots is also the same in
the m automated tasks.

The optimal level of automation is m = 0 if w, < (1 4+ 7,)p,. The firm chooses to
fully automate (m = 1) and to employ no routine workers (n; = 0) if w, > (1 + 7,)pa.
If w, = (14 7,)ps, the firm is indifferent between any level of automation m € [0, 1].
In this case, equations (4) and (5) imply that the levels of routine labor and robots are

the same across tasks,
maz; = X, fori € [0,m], and (1 — m)n; = N,, for i€ (m,1], (6)

where N, denotes total routine hours and X denotes total robots. Using the fact that

x; = n;j, with interior automation we obtain m = X/(N, + X), and we can write the

4Since tasks are symmetric, there is no loss of generality associated with this assumption.
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production function as ¥ = A(X + Nr)l_a N&. Since the technology has constant

n

returns to scale, profits are zero.

Government The government chooses taxes and the optimal level of government

spending, subject to the budget constraint

G < mT(w.l,) + 1, T(wyly,) + Txpx/ x;di. (7)
0

Equilibrium An equilibrium is a set of allocations {¢;,l,, ¢n, L, G, Ny, X, 25, n;, m},
prices {w,, w,,p,}, and a tax system {7T'(-), 7.} such that: (i) given prices and taxes,
allocations solve the households’ problem; (ii) given prices and taxes, allocations solve
the firms’ problem; (iii) the government budget constraint is satisfied; and (iv) markets
clear.

The market clearing conditions for routine and non-routine labor are

(I—=m)n; = N,=ml, (8)
N, = m,l,.

The market-clearing condition for robots is redundant by Walras’ law. The market-

clearing condition for the output market is

TrCr +mpey, + G <Y — gb/ x,;di. 9)
0
In an equilibrium with automation (m € (0,1)) in which w, = (1 + 7,)¢, we also
have
X , _
v, =—=——,forie[0,m)].

m 1—m
With interior automation, given aggregate labor supplies 7./, and m,[,, the equilibrium

level of automation satisfies

_ (1+7.)¢ He Trly
m=1- [(1 — oz)A] Tnln (10)

8



and the wage rates of both non-routine and routine labor are independent of preferences,
AVe(1 — a)="
wy, = « ( a)l;a ) (11)
[(1+7)9] @
w, = (14 7)0. (12)

The wage of routine workers is determined by the after-tax cost of robots. Because of
constant returns to scale, the ratio of inputs is pinned down, and so is the wage of the
non-routine worker. An increase in 7, raises the wage of routine workers and lowers the
wage rate of non-routine agents. It is also useful to note that in any equilibrium the
income shares of total production are given by

Wy,

Y

=(1—-a)(l —m), and

An increase in automation reduces the income share of routine workers and does not
change the share of non-routine workers. In this sense, an increase in automation leads

to an increase in pre-tax income inequality.

2.1 The status-quo equilibrium

In this section, we describe the status-quo equilibrium, i.e. the equilibrium under the
current U.S. income tax system and no taxes on robot use (7, = 0). We model the U.S.
income tax system using the functional form for after-tax income proposed by Feldstein
(1969), Persson (1983), and Benabou (2000) and estimated by Heathcote, Storesletten
and Violante (2017). In this specification, the income tax paid by household j is given
by?

T(wily) = wjly — Mw;l;)' 7, (13)

where v < 1. Using PSID data, Heathcote, Storesletten and Violante (2017) estimate

that v = 0.181, which means that income taxes are close to linear. They find that their

Income in Heathcote, Storesletten and Violante (2017) includes other sources of income, other
than labor earnings.



specification fits the data with an R? of 0.91. The parameter A\ controls the level of
taxation, higher values of \ imply lower average taxes. The parameter v controls the
progressivity of the tax code. When ~ is positive (negative), the average tax rate rises
(falls) with income, so the tax system is progressive (regressive).
We assume in all our numerical work that the utility function takes the form:
14v

ules. )+ v(G) = log(e;) — (72— + x105(G), (1)

These preferences, which have been used by Ales, Kurnaz and Sleet (2015) and Heath-
cote, Storesletten and Violante (2017), have two desirable properties. First, they are
consistent with balanced growth. Second, they are consistent with the empirical evi-
dence reviewed in Chetty (2006).

For these preferences and the status-quo tax specification, both households choose
to work the same number of hours, I; = [(1 —7) /C]I/(Hy), which only depend on the

preference parameters, ¢ and v, and the progressivity parameter, ~.

Model calibration We set ¢ = 10.63, so that in the status-quo equilibrium agents
choose to work 1/3 of their time endowment. We set v = 4/3, so that the Frisch
elasticity is equal to 0.75, which is consistent with the estimates discussed by Chetty,
Guren, Manoli, and Weber (2011).

Following Heathcote et al. (2017), we choose y = 0.233 so that the optimal ratio of
government to output is 18.9 percent, the same weight observed in the U.S. economy.®
The tax on robots is zero in the status quo (7, = 0). We assume that the level of
progressivity of the tax system is v = 0.181, the value estimated by Heathcote, et al.
(2017). We adjust \ to satisfy the government budget constraint.” On the production

SWhen utility takes the form (14), the optimal ratio of government spending to output is the same
for all the tax systems we consider.

7An alternative approach would have been to keep the tax schedule constant and adjust the level of
government spending to balance the government budget. However, this approach would make it more
difficult to compare the solutions for the different tax systems.

10



side, we normalize A to one, choose a = 0.53 and w, = 0.55. These choices are
consistent with the share of labor income received by non-routine workers and the
fraction of workers that are routine estimated by Chen (2016).® These values of A, a,
7, and parameter choices are used in all our numerical experiments.

In our quantitative analysis, we consider a sequence of static economies where the
cost of a robot falls geometrically over time, ¢; = ¢oe 9%'. We set g,, the rate of decline
in the price of robots, equal to 0.0083. This value allows our model to match the decline
in task content estimated by Acemoglu and Restrepo (2018b) for the period 2000-2008.
We choose this period to abstract from the financial crises and focus on the period
where automation takes off in the U.S. We set ¢g = 0.4226 which is the lowest value of
¢ consistent with no automation in the status-quo equilibrium (see equation (10)). We
assume that time zero corresponds to year 2000 and label our figures accordingly.

Figure 1 describes the effect of changes in the cost of automation. As time goes
by, ¢ falls causing the wage of routine workers to fall and that of non-routine workers
to rise. Since the utility function is logarithmic and wages are the only income source,
hours worked remain constant for both routine and non-routine workers. This property
reflects the offsetting nature of income and substitution effects. Given that as ¢ falls,
wages of routine workers fall and their hours worked remain constant, their income,
consumption, and utility fall. In contrast, non-routine workers benefit from rising
income, consumption and utility.

As ¢ falls, the parameter that controls the level of taxation, A, rises, which implies
a decline in the overall level of taxation. This decline reflects the increasing share of
tax revenue paid by non-routine workers pay and the fact that, as ¢ falls, their income
rises faster than output.

In sum, our analysis suggests that the current U.S. tax system will lead to massive

8The equilibrium is independent of the value of p, the parameter that controls the elasticity of
substitution between different tasks. The reason for this result is that all the factors (non-routine
workers and/or robots) used in equilibrium to perform these tasks have the same marginal cost.
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income and welfare inequality in response to a fall in the costs of automation.

2.2 The first-best allocation

The first-best allocation for this economy maximizes the weighted average of utilities,
subject only to resource feasibility, without taking into account implementability con-
straints arising from information or other constraints.

The weighted average of utilities assigns positive weights w, and w,, to routine and
non-routine agents, respectively. These weights are normalized so that m,.w, + m,w, =
1. The planning problem is to choose {c¢;, ., ¢y, l,, G,m,{z;,n;}} to maximize social
welfare,’

Trwr [u(cr, Iy) + 0(G)] + mawy [u(cn, 1) + v(G)] . (15)

The first-best allocation features production efficiency, because the robots’ marginal
productivity equals their marginal cost, ¢. We focus on the case in which the planner
values redistribution to routine workers (the relatively poorer agent). If w, > 1, then the
planner gives more consumption to the routine worker, ¢, > ¢,, and requires the more
productive non-routine worker to work more. This result implies that in the first-best
the utility of routine workers is higher than that of non-routine workers. Clearly, the
first-best solution cannot be implemented if the planner cannot discriminate between
household types. In this solution, non-routine households would have an incentive to
act as routine to benefit from a more generous consumption bundle.

In all our quantitative exercises, we assume that w, = 1. Figure 2 illustrates the
properties of the first-best solution. In panel A, we see that full automation occurs only
asymptotically. However, 21 percent of the tasks are automated in the first period, 50

percent by 2017, and 75 percent by 2042. The real wage rate for both types of workers

90ne interpretation of the social welfare function is as follows. Workers are identical ex-ante because
they do not know whether their skills can be automated or not, i.e. whether they will be routine or
non-routine workers. The planner maximizes the worker’s ex-ante expected utility.

12



are the same as in the status-quo equilibrium.!® The consumption and utility of both
types of worker rise as ¢ falls. Figure 2 also shows that implementing the first-best

solution requires large transfers from non-routine to routine workers.

2.3 Mirrleesian optimal taxation

In this section, we characterize the optimal non-linear income tax when the planner
observes a worker’s total income but does not observe the worker’s type or labor supply,
as in the canonical Mirrlees (1971) problem. For the reasons emphasized in Guesnerie
(1995), we assume that robot taxes are linear.

In the Mirrlees (1971) model, the productivities of different agents are exogenous.
In our model, these productivities are endogenous and depend on 7,. This property is
central to the question we are interested in studying: is it optimal to distort production
decisions by taxing the use of robots to redistribute income from non-routine to routine
workers to increase social welfare?

In the analytical description of the optimal policy, we focus attention on plans with
interior automation, m > 0. We also assume that ¢ < a®(1—a)'"*A, so that if 7, <0
non-routine workers earn a higher wage (w,, > w;,) in an equilibrium with automation
(see equations (11) and (12)).

The Mirrleesian planning problem is to choose the allocations {c;,l;};=rn, G, and
the robot tax 7, to maximize social welfare, defined in equation (15), subject to the
resource constraint

Te + @ MWyl

a(l+7,) 1+7, (16)

TpCr + Tnen + G < mwpl,

10The reason for this property is as follows. Equations (11) and (12) imply that wages depend on
technological parameters (o and A), the cost of automation, and the value of 7,. Since 7, = 0 in the
status quo and there is production efficiency in the first-best allocation, the wages are the same in
both allocations.

1We do not discuss the case where m = 0 because in this case the results in Stiglitz (1982) apply
to our model.
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and two incentive constraints (IC)

Wn,

u(Cnsln) > u (cr, &lr) ; (17)
Wn,
> — 1
u(cr, ly) > u (cn, ” ln) , (18)

The wages of the two types of workers are given by equations (11) and (12).

Any competitive equilibrium satisfies equations (16), (17), and (18). In addition,
any allocation that satisfies these three equations can be decentralized as a competitive
equilibrium.

Household optimality implies that the utility associated with the bundle of consump-
tion and income assigned to agent j, {c;, [}, must be at least as high as the utility asso-
ciated with any other bundle {c, [} that satisfies the budget constraint ¢ < w;I—T (w;l),
implying that u(c;, ;) > u(c,!). In particular, routine workers must prefer their bundle,
{¢y, 1}, to the bundle that they would get if they pretended to be non-routine workers
while keeping the routine wage, {¢,,w,l,/w,}. Similarly, non-routine workers must
prefer their bundle, {¢,,,}, to the bundle they would get if they pretended to be rou-
tine workers, {c,, w,l,/w,}. These requirements correspond to the two IC constraints,
(17), and (18), so these conditions are necessary.

We show in the Appendix that equation (16) is necessary by combining the first-
order conditions to the firms’ problems with the resource constraint, (9). In addition,
we show that conditions (16), (17), and (18), are also sufficient. To see that equations
(17) and (18) summarize the household problem, note that it is possible to choose a tax
function such that agents prefer the bundle {¢;,[;} to any other bundle. For example,
the government could choose a tax function that sets the agent’s after-tax income to
zero for any choice of w;l different from wj;l;, j = r,n. These results are summarized

in the following proposition.

Lemma 1. Equations (16), (18) and (17) characterize the set of implementable allo-

cations. These conditions are necessary and sufficient for a competitive equilibrium.

14



Since the government can choose an arbitrary tax function, it is only bound by
the incentive constraints which characterize the informational problem. This property
means that the income tax function that is assumed here to implement the optimal
allocation is without loss of generality. Any other implementation would at least have
to satisfy the same two incentive constraints.

The tax on intermediate goods provides the government with an additional instru-
ment relative to the Mirrlees (1971) setting. The planner can use this instrument to
affect the income of the two types of workers but its use distorts production.

To bring the analysis closer to a canonical Mirrleesian approach, we maximize the
planner’s objective in two steps. First, we set 7, to a given level and solve for the
optimal allocations. Second, we find the optimal level of 7,. We define W (7,) as the
maximum level of social welfare, (15), subject to the incentive constraints, (17) and
(18), and the resource constraint, (16) for a given value of 7,.

An optimal choice of 7, requires that W'(r,) = 0. We characterize optimal al-
locations in which the incentive constraint of the non-routine worker binds, and the
incentive constraint of the routine worker is slack. This pattern holds in all our numer-
ical exercises.

The expression for net output in the right-hand side of equation (16) can be written

as 1—a
wta aAY*(1—a)w

a(l+ 7))t Pt

Tpln + Oml,.

The term (7, + «) / [04 (1+ 7)Y a] is equal to one for 7, = 0 and strictly less than one
for 7, # 0. This term is a measure of the production inefficiency created by the tax on
robots. With automation is incomplete, the planner is willing to pay a resource cost, in
terms of this production inefficiency, in order to loosen the incentive constraints that

are also functions of the robot tax.

Proposition 1. Suppose the optimal allocation is such that the non-routine workers’

incentive constraint binds and the incentive constraint for routine workers does not bind.
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Then, if automation is incomplete (m < 1 and l. > 0), robot tazes are strictly positive

(1. > 0). The optimal taz on robots satisfies

Tx _ 04 7T'r’¢l1” 1 + Wrly (C'r’a lr) ; (19)
14+7, 1—amw,l, 0]

where p denotes the multiplier on the resource constraint (16).

This proposition is proved in the appendix. To see the intuition for this result,
suppose that 7, < 0. A marginal increase in 7, has two benefits. First, it strictly
increases output and hence the amount of goods available for consumption. Second,
it reduces the relative wage w,/w, and makes the non-routine worker less inclined
to mimic the routine workers. This property can be easily seen from the incentive
constraint of the non-routine worker: u(c,,l,) > u <cr, z—:jln>

Consider instead 7, = 0. Since a zero tax on robots maximizes output, for fixed la-
bor supplies, a marginal increase in that tax produces only second-order output losses.
On the other hand, increasing 7, generates a first-order gain from loosening the infor-
mational restriction. Therefore, starting from 7, = 0, the planner can always improve
welfare with a marginal increase in 7.

Robot taxes are optimal only when automation is incomplete (m < 1), so that
routine workers are employed in production (I, > 0). When full automation is optimal
(m =1, [, = 0) there is no informational gains from taxing robots. Since the robot tax
distorts production and does not help loosen the incentive constraint of the non-routine
agent, the optimal value of 7, is zero. We prove this result in the appendix.

We now turn to the study of the optimal wedges. The optimality conditions imply
the following marginal rates of substitution:

w(Cny ln) T, +
— N =Wy,
Ue(Cny L) a(l+7,)

Ue(cr,wely /Wy
ul(craZT‘)lr _ Wr = T (UC(CT:ZT/) ; Wl

uc(cm lr) a ul(cr,wrlr/wn)ﬁ 1+ Tx’
Wr = T ul(c'r:lv")L
wr
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where 7,7, denotes the Lagrange multiplier of the incentive constraint of the non-
routine worker.

One property of the original Mirrlees (1971) model is that the labor-supply decision
of the high-ability agent should not be distorted. In our model, non-routine workers
are subsidized at the margin when automation is incomplete. This subsidy corrects for
the difference between the productivity as perceived by the firm (w,,) and the marginal
increase in the resources available to the planner from a marginal increase in 7,[,, which
is equal to w, (1, + @) /a(1 + 1), where (7, + ) /(1 + 7,) > 1.12

Routine workers are taxed at the margin when automation is incomplete for two
reasons. First, this tax corrects the distortion created by robot taxes, which make the
wages of routine workers higher than the marginal increase in the resources available
to the planner from a marginal increase in 7,./.. Second, taxing routine workers makes
it less appealing for non-routine workers to mimic routine workers and loosens the 1C
of non-routine workers.

Figure 3 illustrates the properties of the equilibrium associated with Mirrleesian
optimal taxation. The process of automation begins later in the Mirrleesian solution
than in the first best. This property reflects the presence of robot taxes in the Mir-
rleesian solution. These taxes increase the wages of routine workers and decrease the
wages of non-routine workers. This wage compression loosens the incentive constraint
of non-routine workers, which allows the government to redistribute more income from
non-routine to routine workers.

The path for the tax rate on robots has a hump shape. The economy starts with
inequality in wages that makes redistribution desirable. Since initially the cost of
distorting automation is relatively small, the planner chooses a level of robot taxes
which halts the process of automation. As the costs of automation fall, robot taxes

increase to prevent automation from occurring. After this initial period, robot taxes

12The general-equilibrium effects emphasized by Stiglitz (1982) are reduced in our model to the
impact of the robot tax on pre-tax wages.
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fall. As robots become cheaper, it is inefficient to use routine workers so their labor
supply falls. This decline in routine hours makes robot taxes less useful as a tool for
income redistribution. In the limit, routine hours converge to zero and so do robot
taxes.

Consumption of non-routine workers is higher than that of routine workers. Since
non-routine workers work harder than routine workers, the former need to receive higher
consumption to satisfy their incentive constraint. Both types of workers see their con-
sumption rise as ¢ approaches zero. This outcome is achieved through large transfers
to the routine workers.

In the limit, routine households stop working and live off government transfers.
Those transfers are generous enough that the utilities of the two worker types are
equalized. The reason for this equalization is that, once routine workers supply zero
hours, there is no difference between the non-routine worker pretending to be routine

and that of the routine worker.

2.4 Optimal policy with simple income taxes

In this subsection, we compare the Mirrleesian allocation with the solution to a Ramsey
(1927)-style optimal taxation problem in which the tax schedule is assumed to take the
simple form described in equation (13). This function has two parameters, v and .
When 7 is zero, the tax system is linear with a rate A\. The tax system is progressive
when v is greater than zero and regressive when v is lower than zero. This function
has been widely used to study the U.S. income tax system and has recently been
estimated by Heathcote, Storesletten and Violante (2017). Our goal is to assess how
close the Ramsey solution with these simple taxes is to the Mirrleesian allocation. We
also consider a version of the problem where we allow for lump-sum transfers. These
transfers can be interpreted as a form of universal basic income.

We characterize the competitive equilibrium for this economy in the Appendix.

Using these equations, we can write the ratio of the consumption of routine and non-
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routine workers as: -
o _ (1—a)(1—m)@ 7 (20)

Cn « T,

Equation (20) shows that there are two ways to make the ratio ¢, /¢, closer to one.
One way is to raise 7, which leads to a fall in the level of automation, m. The other way
is to make ~ closer to one, i.e. make the tax system more progressive. Both approaches
have drawbacks. Taxing robot distorts production. Increasing progressivity reduces
incentives to work.

Since we are interested in studying optimal taxation in an economy with automation,

we focus on equilibria where m > 0. In this case, equation (20) can be written as:

N [(1 o (oLe ) m] o)

o Ty (1 - Oé)A 7Tnln

This condition results from the fact that the government must set the same income tax
schedule for both routine and non-routine agents.
The planner chooses allocations {¢;, [, ¢,,l,,, G} and the tax parameters {7,,v} to

maximize welfare, (15), subject to equation (21) and the following conditions

r;lr lr

UC(CT, lr)cr + % = 07 (22)
mln ln

Uc(cna ln)cn + % = Oa (23&)

and the resource constraint with interior automation, (16).

The constraints (22) and (23a) are the usual Ramsey implementability conditions.
We show in the Appendix that equations (21)-(16) are necessary and sufficient condi-
tions for a competitive equilibrium. We define /¢, as the multiplier on the constraint
(21) and by g the multiplier on the resource constraint. In the Appendix we show that
the optimal tax rate on robots satisfies:

Ty _ a 77(1 - 'Y) (24)
1+7,  1—apw,mpl,
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Since the marginal utility of public expenditures is always positive, the marginal value
of resources to the planner, given by the multiplier y, is strictly positive. The multiplier
1 captures the marginal value of redistributing income to routine households, which is
limited by the assumptions on the income-tax function. If n > 0, the marginal value of
additional redistribution of income towards routine workers is positive and robot taxes
are strictly positive. The intuition for this result is that since the government has to use
the same income tax function for both types of workers, taxing robots helps redistribute
income by increasing the pre-income tax wage of routine workers and lowering that of
non-routine workers.

Figure 4 shows that the form of the tax function constrains heavily the outcomes
that can be achieved. As discussed above, the planner can redistribute income by
taxing robots or by increasing progressivity. Taxing robots distorts production and
higher progressivity reduces incentives to work. Since initially the cost of distorting
automation is relatively small, the planner chooses a level of robot taxes consistent with
no automation. Robot taxes are heavily used, reaching values as high as 7, = 0.33. As
the costs of automation decline, the progressivity of the income tax rises. But there is
still a large divergence in wage rates, consumption and utility across the two types of

workers.

Optimal policy with lump-sum transfers The simple tax system studied in the

previous section can require very high production distortions. This is because the

alternative is to use progressive income taxes which heavily distort the labor supply. In

this section, we study a simple modification of the tax system: we allow the government

to give out a positive lump-sum transfer, {2. In this specification, the after-tax income

of household j is A(w;N;)™7 + Q.

Combining the budget constraints of the two worker types, we obtain

LA o

cn, — o T,
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Comparing this equation with (20), it is clear that higher transfers bring ¢, and ¢,
closer together, holding everything else constant.
The planning problem is to choose allocations {c,, ¢, l,.,l,, G} and the tax param-

eters {7,,7,Q}, subject to the following conditions

1)
UC<CJ', lj) (Cj - Q) + U/l(lcjfjfy)] = 07 .7 =nmn, (26)
I—y
(1—a)m, (614 12) Ve 1,
T'_Q: n_Q —_ ) 27
¢ (c ) [ a m \(1-—a)A Tnln (27)
U(C],ZJ)ZU(Q7O) lfQZOa]:T7n7 (28)

and the resource constraint with interior automation, (16).

Conditions (26) are obtained from the budget constraints for each household type,
combining the first-order conditions to replace prices and taxes. The second condition
(27) imposes that the tax system is the same for both household types. With positive
lump-sum transfers and regressivity, v < 0, the solution to the households problem
may not be interior, meaning that the household may choose to work zero hours and
set consumption equal to the transfer. The conditions (28) impose that the household’s
allocation does not yield lower utility than that corner solution. We show in the ap-
pendix that these conditions are necessary and sufficient for a competitive equilibrium
in the quantities {c,, ¢, (,,l,, G} and the tax parameters {7,,~, }.

The optimal tax on robots satisfies

n o a0y )

1+7, 11—« PR Ty, Cy

where n/c, is the multiplier for the no-discrimination constraint (27) and p is the
multiplier for the resource constraint.'® If the lump-sum transfer is chosen to be zero,
then the expression (29) is the same as in case without lump-sum transfers. The optimal

plan may feature ¢, = €2, in which case the routine worker supplies zero labor hours.

13See the appendix for the derivation.
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In this limiting case, there is no role for redistributing by affecting the relative wages,
and robot taxes should be set to zero.

Figure 5 illustrates the properties of this allocation. Workers have two sources of
income: wages and transfers. For this reason, income and substitution effects of changes
in wages are no longer offsetting. As a consequence, the two types of workers supply a
different number of hours and their hours vary with ¢.

The optimal solution with lump-sum transfers features full automation even when
robots are still relatively expensive. In contrast, full automation occurs only asymptot-
ically with Mirrleesian taxes and optimal simple taxes. Once full automation occurs,
routine households have no labor income. Since only non-routine workers pay income
taxes, the planner designs the tax system to avoid distorting their marginal labor-supply
decisions. This result is achieved by increasing the regressivity of the tax system (i.e.
lowering v < 0) so that, given the level of taxation implied by A, the marginal income
tax rate for non-routine workers is zero. In this way, the taxation of non-routine house-
holds is effectively equivalent to lump-sum taxes.!* The level of transfers is chosen so
that the non-routine worker is indifferent between the interior solution, with positive
labor, and the corner solution with zero labor and consumption equal to transfers. For
a higher level of transfers, both agents would supply zero labor.!?

The availability of lump-sum transfers is essential for full automation to occur in
finite time. Without lump-sum transfers, a routine worker who drops out of the labor
force has zero consumption. For this reason, routine workers never drop out of the labor
force.

One surprising result is that full automation occurs with this restricted tax system

and not in the Mirrleesian solution which also allows for lump-sum transfers. The intu-

14The same logic implies that in a representative-agent economy it is possible to use the Heathcote
et al. (2018) tax function to obtain the same allocation as with lump-sum taxes. This allocation is
achieved by choosing a regressive tax system such that the marginal tax rate is zero. Government
expenditures are financed with the revenue raised by the infra-marginal tax rates.

15In the appendix, we show a numerical example of the individual agent’s problem with one such
solution.
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ition for this result is as follows. Because preferences are separable and have constant
Frisch elasticity, the marginal disutility of labor converges to zero as labor hours ap-
proach zero. For this reason, a Mirrleesian planner finds it optimal to have routine
workers supply positive labor, even if productivity is very low. With a general tax
function it is possible to implement very different marginal distortions for both types of
worker. As we have seen before, the Mirrleesian solution features a negative marginal
distortion for non-routine workers, and a positive marginal distortion for routine work-
ers. This solution cannot be obtained with the simple tax function. The restrictions on
the marginal distortions associated with this function are such that the planner prefers
a corner solution for the labor supply of routine workers. By excluding routine work-
ers from the labor force, the planner can design the simple tax system to target only
non-routine workers, reducing their marginal tax rate to zero so that in effect they are
taxed in a lump-sum fashion.

In such an equilibrium, income is redistributed through a large lump-sum transfer.
This transfer can be interpreted as a minimum income that is guaranteed to all agents
in the economy. When automation is incomplete, robot taxes are used as an additional
source of redistribution and 7, can be as high as 37 percent. Complete automation

occurs shortly after 2050, once the cost of robots drops below ¢ = 0.27.

2.5 Comparing different policies

In this section, we compare the first-best allocation with the allocations associated with
different policies in terms of social welfare and the utility of routine and non-routine
workers. In the figures discussed below, we use the labels FB, SQ, OT, ST and STL to
refer to the first-best, status-quo, Mirrleesian optimal taxes, simple taxes, and simple
taxes with lump-sum transfers, respectively.

Figure 6 shows the welfare of the utilitarian social planner under the different poli-
cies, between the years 2000 and 2150. Recall that the level of ¢ in the year 2000 was

chosen as the lowest value for which there is no automation in the status quo. Social
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welfare rises as the costs of automation fall both for the first best and for all the policies
we consider. We see that the Mirrlees allocation is relatively close in terms of welfare
to the first-best allocation. The solution with simple taxation and lump-sum trans-
fers ranks next in terms of welfare, followed by the solution with simple taxes without
rebates. The status quo is by far the worst allocation.

A fall in the cost of automation can have very different consequences for routine and
non-routine workers. To illustrate this property, we measure the utility of the two types
of workers relative to the status-quo equilibrium in year 2000. We call this allocation
the no-automation benchmark. Panel A (B) of Figure 7 shows how much routine (non-
routine) workers would have to be compensated in the no-automation benchmark to be
as well off as in the policy under consideration, for the different years. The measure is
computed as a percentage of consumption.

Panel A of Figure 7 shows that the utility of routine workers in the first-best al-
location improves as ¢ falls over time. In contrast, in the status quo, routine workers
become increasingly worse as automation becomes more pronounced. With Mirrleesian
optimal taxation, routine workers are always made better off. With simple income
taxes, routine workers are not made better off until after 2150. We can see that includ-
ing a universal form of income is a simple way of recovering gains for routine workers.
Indeed, shortly after 2050 the routine worker is almost as well off in this solution as in
the solution with Mirrleesian taxes.

Panel B of Figure 7 shows that non-routine workers prefer the no-automation bench-
mark to the first best while automation costs are relatively high (almost until 2100).
This preference reflects the large transfers that non-routine workers make to routine
workers in the first best. Once automation costs fall by 62 percent relative to their
2000 value, which happens in 2116, non-routine workers prefer the first best to the
no-automation benchmark. The reason is that the wage of non-routine workers is high
enough to compensate for the transfers they make to routine workers. Starting in 2015,

non-routine workers prefer the status quo to all other allocations. This preference
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results from a combination of high wages and relatively low taxes in the status quo.
Routine workers always rank the first-best allocation first, Mirrleesian optimal taxa-
tion second, simple taxes with lump-sum transfers third, simple taxes without lump-sum
transfers fourth, and the status quo last. The utility for the allocation with simple taxes
and lump-sum transfers approaches that under Mirrleesian taxes as the cost of automa-
tion falls. In contrast, non-routine workers rank the status quo first and the first best
last. Mirrleesian optimal taxation and simple taxes with and without transfers rank in

between the two extremes.

2.6 The simple model with endogenous occupation choice

In this section, we study the optimal tax policy in a version of our model that allows
agents to choose whether to become routine or non-routine workers. In this model,
taxing robots affects the relative wages of routine and non-routine workers thereby
affecting occupation choices.

Our analysis is related to Saez (2004), Scheuer (2014), Rothschild and Scheuer
(2013), and Gomes, Lozachmeur and Pavan (2017). These authors characterize Mirrlees-
style optimal tax plans in models with endogenous occupation choice. Saez (2004) con-
siders a setting in which agents choose their occupation but hours worked are fixed.
Income is proportional to the wage rate so the government can infer a worker’s occu-
pation from the workers’ income. This property allows the government to design the
income tax schedule to effectively tax different occupations at different rates. As a
result, it is not optimal to distort production. Gomes, Lozachmeur and Pavan (2017)
consider a setting in which agents choose both their occupation and hours worked.
They find that the optimal tax plan does not feature production efficiency.

In our model, workers have different preferences for the two occupations. They
choose both their occupation and the number of hours worked. In our numerical ex-
amples, production efficiency is generally not optimal as long as the costs of changing

occupations are significantly high.
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Households There is a continuum of measure one of households indexed by the oc-
cupation preference parameter § € © C R. This parameter is drawn from a distribution

F with continuous density f. Household preferences are given by
u (C@, lg) + ’U(G) — 099, (30)

where ¢y and [y denote the consumption and income of household 6, respectively. The
indicator Oy denotes the household’s occupation choice. It takes the value 1 when the
household chooses a non-routine occupation and 0 otherwise. The wage rate earned
by the household depends on the individual occupation choice. It is equal to w, if the
household chooses a routine occupation and equal to w, otherwise.

The utility representation above has the following interpretation: households have
heterogeneous preferences with respect to different occupations. A household with a
positive @ prefers, all else equal, a routine occupation. A household with a negative 6
prefers, all else equal, a non-routine occupation.

The households maximize their utility subject to the budget constraint
Co S wglg -T (wglg) . (31)

It is useful to define the set of households that choose to become non-routine workers,
O, = {0 € © : Oy = 1} and the set of households that choose to become routine workers
O, = 6\06,.

Mirrleesian optimal taxation The production side is the same as in previous sec-
tions. We maintain the assumption that the only instrument the government has to
directly affect production is a proportional tax on robots. With these assumptions, the

firms’ decisions, when automation is interior, can be summarized by the constraint

T+ a Jo, wolaf (6) A9
/@ cof (0)df+G < m /en welg f (0) dO + 1+ . (32)

As in Rothschild and Scheuer (2013), we characterize a direct implementation where

households declare their type 6 and get assigned an allocation (cg,ly, Oy). Income
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and consumption are observable, but the government cannot observe labor, wage or
sectoral choice. Given this informational asymmetry, the constraints that guarantee
truth-telling are as follows. The first condition is the same incentive constraint on the
choice of hours worked that we have used before:
u(cg,lg) > u (09/, %lg/) , V0,0 €06. (33)
W
This labor-supply incentive constraint guarantees that households choose the assigned
allocation, given the occupation choice.
The second condition is the incentive constraint for the choice of occupation of an

individual of type 6:
u (C@, l@) - 099 Z u (C@/, l@/) - 09/6, V@, 9/ € O. (34)

This occupation-choice incentive constraint ensures that households choose their as-
signed occupation. The other conditions are that the occupation choice, Oy, defines
the sets ©,, and O, and that (32) holds.!®

To characterize the necessary and sufficient conditions for incentive-compatible oc-

cupation choice, it is useful to define Uy = u (cy, lp).

Lemma 2. An allocation is incentive compatible for occupation choice if and only if
for 60,60 € ©; then Ug = Uy = U; for i = r,n, and there exists a threshold 0* = U, — U,
such that (i) if 6 < 60* then 6 € ©,,; (ii) if 0 > 0* then 6 € ©,..

This result follows directly from the incentive constraints. The first part of the

lemma states that all agents who share the same occupation choice must have the same

16These constraints do not explicitly take into account the possibility that agent # might choose an
allocation (Cy/, Yy ) at a different occupational choice than Op. However, those additional constraints
are redundant. To see this result, suppose that agent 6 deviates to an allocation (Cy/, Yy ) and occupa-
tional choice Oy which is different from that of Op,. From the intensive margin incentive constraint for
agent 0 it follows that u(Cy) —v (Yo Jwy) — 0p0 < u(Cy) —v(Y/wy) — Os8 < u(Cy) —v(Yp/we) — Opb,
where the last inequality follows from the extensive margin incentive constraint for #. This condition
also guarantees that when choosing his own assignment, Oy is optimal.
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utility level. This property results from the fact that they can mimic the choices of
another household in the same group at zero cost. So, if an allocation was better than
all others for the same occupation, all agents would choose that allocation.

The second part of the proposition establishes that the incentive constraints for the
extensive margin choice can be summarized by a single threshold rule. Agents with 6
lower than 6* choose a non-routine occupation and the remaining agents become routine
workers.

The planner maximizes a weighted average of utilities, where the weight on agents
of type 0 is w(f) > 0 with [w(#)f () dd = 1.

Proposition 2. In the optimal plan, if 0,0 € ©; then wyly = wely = w;l; and cp =

co = ¢, fori=rn.

Agents who choose the same occupation have the same preferences for consumption
and leisure and the same productivity. They differ only in their value of # which enters
separably in their utility function. Since the planner has an utilitarian welfare function,
the optimal plan sets the same consumption and hours worked for all agents with the
same occupation.

Using these results, we can see that, for a fixed 7,, the optimal plan solves the
following optimization problem:

0* o*

w(B) f (8) d9+v(G)— / w(0)0f (0) db,

— 00

[e.9]

W) = ulend) [

—00

w(8)f (9) do+u (c,, lr)/

*

subject to
0" =u(cy,ln) —ule,l),
Te + @ 1 — F(0")] w,l,
a(l+7,) 1+7, '

and two incentive constraints which are the same as those of the model with fixed

F(0")en +[1 — F(0")] ¢, + G < F(0")w,l,

occupations (equations (17) and (18)). Optimizing with respect to 7, requires W'(r,) =
0.
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The solution to this problem can be decentralized with a mechanism in which the

government sets 7, to its optimal level and sets income taxes such that
T(wyl,) = wyly, — ¢y, and T(w,l.) = w.l,. — ¢,

and T'(y) = y — max {c|u (ciyl;) > u (c, w%) , fori= r,n} for other levels of y.

Numerical analysis We now explore the properties of the occupation choice model
with some numerical examples. We use the same preference and production parameters
as in previous sections.’” We set © = R and assume that F'(6) is a normal distribution
with mean zero and standard deviation ¢. This choice ensures that half the population
has a preference for routine work and the other half for non-routine work. We solve the
model for two values of o, 1 and 7.5.

Figure 8 shows the first-best solution for both values of 0. We can see that lower
dispersion of 6 is associated with a higher share of non-routine workers. This property
makes intuitive sense, since having more agents with 6 close to zero implies that it is
easier to switch them to more productive non-routine occupations. This higher fraction
of non-routine workers also results in higher consumption and lower working hours
for all households. Because it is easier to switch agents to non-routine occupations,
automation advances faster when dispersion is lower.

Figure 9 shows the Mirrleesian solution for the same levels of . When dispersion is
high, robot taxes are positive and are similar to the benchmark case without occupation
choice. However, in the case of o = 1 dispersion is low and the tax on robots is always
zZero.

Taxation has a direct distribution effect on after-tax income and an indirect dis-
tribution effect on the choice of occupation. The optimal plan balances the costs and
benefits of these two forms of redistribution. For o = 1, the costs of indirect redistri-

bution are low, so the planner induces a higher fraction of the population to become

"In the numerical analysis we compare the Mirrleesian solution to the first-best solution in this
environment. We solve for the first best in the appendix.
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non-routine. In fact, for low automation costs the share of non-routine workers becomes
almost as high as in the first-best allocation. Since taxes on robots are desirable only
insofar as they improve the direct redistribution mechanism, the reduced importance
of this form of redistribution also implies that taxes on robots should be lower.

For o = 7.5, the costs of indirect redistribution are high, so the planner resorts
to using more direct redistribution. This approach results in higher consumption and
lower hours worked for routine workers. Because hours worked decline faster when o
is higher, automation also advances more rapidly as ¢ falls over time. We can also see

that the share of non-routine workers is much lower than in the first best.

3 A dynamic model

In this section, we generalize the previous results to a dynamic model in which robots

are an investment good.

Households and preferences As in our static environment, the model features two
types of households, routine (r) and non-routine (n). We normalize the size of the
population to one, and assume that there are m, routine workers and 7, non-routine
workers. These households differ permanently in the type of labor they supply.

The utility function of household j is given by

Uj = Z/Bt [u(cje) — h(ljz) +v(Gy)]

where u/(¢) > 0, W' (I) > 0, v/(G) > 0, and u”"(c) < 0, K"(l) > 0, v"(G) < 0 denote
respectively the first and second derivatives of each function.

As is well known, without weak separability between consumption and leisure, the
uniform taxation result in Atkinson and Stiglitz (1976) fails. In a dynamic setting,
this failure would mean that the optimal plan features intertemporal distortions, i.e.

it is optimal to tax consumption in different periods at different rates. This reason
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to tax capital is orthogonal to the one we focus on and, for that reason, we assume

separability.!®

Technology Production of the final good combines robots with routine and non-
routine workers, according to the production function, Y; = F'(N,+, N,.t, X:) where Y;
denotes total production at time ¢, and NV, ; and N,,; denote the total number of routine
and non-routine labor hours supplied by the households, respectively.

We assume that the production function has constant returns to scale. An house-
hold’s effective contribution to production y;, is observable and equal to the household’s
marginal productivity multiplied by the total number of hours supplied y;; = Fj(t)l;,
for j = r,n, where Fj(t) = OF(N,t, Not, X¢)/ON;:. We define the marginal produc-
tivity of robots in period t as F,(t) = OF (N, Npt, Xi)/0X;. As in the previous
section, we assume that robots share a higher degree of complementarity with non-
routine work than with routine work. For that end, we assume that cp, /g, (1) =
dlog (F.(t)/F,(t)) /dlog X; < 0.

A unit of robot capital is produced using ¢; units of output. The stock of robots
evolves according to:

Xep1 = (1 = 0x) Xy + it/ b4,

where dx denotes the depreciation rate of robots. The resource constraint in period ¢

can be written as

ﬂ-rcr,t + 71-ncn,t + Gt + ¢t [Xt+1 - (1 - 5X) Xt] S F (ﬂ-nln,ta err,t’ Xt) . (35)

First-best allocation Given any Pareto weights for routine and non-routine house-

holds, w,, w, > 0, normalized such that w, 7, + w,m, = 1, the planner’s objective

18Since we assume that utility is time separable, weak separability between the vector of consump-
tions and the vector of hours worked requires strict separability between consumption and leisure in
each period.
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function is

Zﬁt { Z wjmy [u(cje) = h(lje)] + U(Gt)} : (36)

jnT‘

The first-best allocatlon maximizes this welfare function subject to the resource con-
straints (35). The solution to this problem implies the following efficiency conditions,

which equate marginal rates of substitution to marginal rates of transformation

W(ly)

and
u/(cjﬂf) o Fp(t +1) + ¢py1(1 — 0)

BUI<Cj,t+1) N 0N ’

for 7 = r,n. In addition to these conditions, the first-best allocation also requires that

wet (¢ p) = wptt (Cng).

These conditions together with the resource constraint with equality characterize the

Pareto frontier, as we let the weights vary.

Planning problem We solve the problem of a planner who maximizes a weighted-
sum of household utilities subject to incentive and resource constraints. The solution
of this problem cannot yield lower welfare than the solution of a non-linear taxation
problem, and, as we show in the appendix, it is possible to find taxes that implement
the optimal solution.

The incentive constraints for this problem are

S nlen =] = 3-8 [~ (). )
S #unlead =hlt] = o8 [ = ()] w9

The planning problem is to maximize (36) subject to (37) and (38) and the resource

v

constraints (35). We characterize the optimal allocations in which the incentive con-

straint of the non-routine worker (38) binds and the incentive constraint of the routine
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worker (37) does not bind. This pattern generally holds whenever the planner values
redistribution to the routine worker. We check that this property holds in our numerical
exercises.

It is useful to define the following agent-specific intratemporal and intertemporal

wedges
R'(li) 1
T =1— J: , 39
= G0 B (39)
and
!
koo =1- wle) i . 40
s B (i) Fu(t+1) + ¢pa (1 — 6,) (40)

The next proposition states results analogous to those we obtained for the static model:
as long as automation is incomplete, there are positive wedges in the accumulation of

robots.

Proposition 3. In the optimal plan, the intertemporal wedge is the same for the two
worker types, Tfjtﬂ = Tﬁ’t“. If routine labor hours are strictly positive (1,411 > 0), then

the intertemporal wedge is strictly positive, Tfjt = ij’t >0

Proof: See Appendix.

As in the static model, it is optimal to tax robots when the hours worked by routine
households are positive. Since robots are a form of capital, their use is taxed by creating
a positive intertemporal wedge which distorts the accumulation of capital goods. Notice
also that in this economy the intertemporal marginal rates of substitution of the two
agents are equated.

To compare the dynamic model with the static model, it is useful to interpret the
intertemporal wedge as a tax on the rental cost of capital. This rental cost, inclusive
of tax, is given by

@5%%5—@Hu—@>u+ﬁv, (41)

where 77, denotes the tax rate. This rate is not indexed by j because the optimal

intertemporal wedges are the same for all worker types.
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The intuition for the expression for the rental cost is as follows. Renting out a unit
of robot capital at time ¢ + 1 requires investing ¢; in robots at time ¢. This investment
has an opportunity cost of ¢,u'(c;j.)/Bu'(¢j4+1). At the end of the period, the rentor
receives 1 — §, robot units each of which is worth ¢,,;. Since the rental cost inclusive
of taxes is equated to the marginal productivity of robots (F,(¢ 4+ 1)). the optimal tax
rate, 77, is given by:

u'(cjt) L
S Guie g~ Ol = 0)| (14 7) = Falt + 1)

Quantitative analysis In this section, we solve the planning problem and quantify
the effects of advances in automation for the optimal taxation of robots and income.
We assume that the cost of robots declines geometrically over time, ¢; = ¢e 9¢!, which
means that the dynamic problem features investment-specific technical change as in
Greenwood, Hercowitz and Krusell (1997). The baseline scenario assumes perfect sub-
stitutability between robots and routine workers, as in related work on the effects
of automation (see Acemoglu and Restrepo (2018a) and Cortes, Jaimovich, and Siu

(2017)). The production function is given by
F(mpln, mly, X) = A(X +m0) " (mal)”

where A denotes total factor productivity and « is the share of non-routine workers in
production. The assumption that the elasticity between routine and non-routine labor
is unitary is important because it ensures the existence of a balanced growth path which
is reached asymptotically, as the hours supplied by routine workers converge to zero.

We use the same preferences as in our static model (equation (14)):

1+v

oo lr
U; =" 5 |log () 1 i >+ xlog (Gy)
t=0

Recall that these preferences are compatible with balanced growth and consistent with

the empirical evidence reviewed in Chetty (2006).
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The optimal plan maximizes w, .U, + w,m,U, subject to the incentive constraint
(38) and the flow resource constraint (35). We check numerically that the incentive
constraint (37) does not bind.

The model is calibrated with the same values of w,., w,, 7, m,, (, v, x, a, A, and
ge used in the static model. We choose § = 1/1.04, §, = 0.1. We set the initial stock
of robots in 2000 equal be zero so, as in the static model, there is no automation in
the year 2000. We choose the cost of robots in 1999 to be the lowest value consistent
with no automation in 2000 in the status-quo equilibrium. We solve our dynamic model
using a modified version of the algorithm proposed by Slavik and Yazici (2014) which
we discuss in the appendix.

Figure 10 displays the optimal policy solution. The properties of this solution are
similar to those of the static model. The maximum value of the optimal robot tax is
14 percent, which is higher than the maximum value attained in the static model (9
percent). The tax rate on robots converges to zero as the degree of automation, defined
as my = X/ (X¢ + ml.4), converges to one.

Technical progress induces a fall over time in the relative productivity of routine
workers. For this reason, it is optimal for the number of routine hours of work to
decline over time. As routine hours fall, there is less incentive for the planner to tax
robots to distort the ratio of wages and loosen the incentive constraint of non-routine
workers. As routine hours converge to zero, the optimal robot tax converges to zero.

This mechanism is also present in our static model.

4 Relation to the public finance literature

In this section we discuss how our results relate to classical results on production effi-

ciency and taxation of capital in the public finance literature.
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Relating our results to Diamond and Mirrlees (1971) Our results stand in
sharp contrast to the celebrated Diamond and Mirrlees (1971) result that an optimal
tax system should ensure efficiency in production and therefore leave intermediate goods
untaxed. In our framework, this property would imply that the tax on robots should
be zero.

At the heart of the failure of the Diamond and Mirrlees (1971) intermediate-good
theorem in our model is the fact that the government cannot discriminate between the
two types of workers. If tax functions could be worker specific, production efficiency
would be recovered in our model. To see this result, consider type-specific tax functions
of the form used by Heathcote et al. (2018) with different tax levels, A, and \,, but

with the same progressivity parameter
T (wili) = wil; — A; (wilz‘)lﬂ :

In this case, household optimality requires
—w(cy, )l
ue(cj, 1)

Given that the planner can choose A, and A, to target each marginal rate of substitution

=N (1 —7) (wl)'™7, and ¢ =\ (w;l;)' 7.

independently, the only constraints faced by the planner are the resource constraint (16)
which can be written as

m+a  aAVr(l—a)e"
a(l+7,)le o=

TpCr + ey + G < Tply, + o7l

and the implementability conditions

uy(cj, 1)l

ue(cj,l)e; + T~ 1—0, forj=rn.

These three conditions are necessary and sufficient for an equilibrium. Recall that the
term (7, + ) /a(1 + 7,)/* < 1, and is strictly less than one if 7, # 0.
The robot tax only affects directly the resource constraint and not the imple-

mentability conditions. Since the robot tax does not interfere with incentives, it is
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chosen to maximize output for given levels of hours worked. This objective is achieved
by not distorting production, setting 7, = 0.
When the tax system requires that all workers face the same income-tax function

(A = A\,), the planner must satisfy the following additional implementability constraint

c, wl, '

The value of 7, no longer appears only in the resource constraint; it also appears

in equation (42) because the wage ratio is a function of 7,. To relax restriction (42), it
might be optimal to choose values of 7,, that are different from zero. This result depends
crucially on the fact that different labor types interact differently with the intermediate
good, which means that distorting the use of intermediate goods affects in different
ways the wage rates of routine and non-routine workers. If the production function
was weakly separable in labor types and intermediate inputs, the wage ratio would be
independent of the usage of intermediate inputs and production efficiency would be
optimal. In our model, robots are substitutes of routine workers and complements of
non-routine workers. A tax on robots decreases the wage rate of non-routine workers
and increases the wage rate of routine workers. This property implies that it can be

optimal to use robot taxes.

Relating our results to Atkinson and Stiglitz (1976) Our result that in the
Mirrleesian optimal taxation problem production efficiency is not optimal stands in
contrast with the well-known result in Atkinson and Stiglitz (1976) that, for preferences
that are separable in commodities and leisure, uniform commodity taxation is optimal.
Since uniform taxation can be interpreted as production efficiency, their result seems
to contradict ours.

The difference between our results and those of Atkinson and Stiglitz (1976) stem
from the determinants of worker productivity. In Atkinson and Stiglitz (1976), workers’

productivities are exogenous. In our setup workers’ productivity are endogenous so,
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it may be optimal to deviate from production efficiency to induce changes in those
productivities. In particular, by taxing robots the Mirrleesian planner is able to change
pre-tax wages through general-equilibrium effects, relaxing the incentive constraint, and
improving welfare.”

Naito (1999) shows that uniform taxation may not be optimal in an economy in
which the intensity of high- and low-skilled workers in production varies across goods.
This form of production non-separability implies that commodities interact differently
with different agent types and, as a result, it might be optimal to deviate from uniform
commodity taxation.?’ Similarly, in our model the assumption that production is not
separable in the use of robots and the two labor types is key to generate deviations
from production efficiency.

The intuition for the importance of general-equilibrium effects of taxation on wages
and prices is the same we emphasized in our discussion of proposition 1. Because
the planner does not know the type of the agent and only observes income, it is re-
stricted to use incentive-compatible tax systems. Since different types interact dif-
ferently with the intermediate good, distorting production decisions may help in the
screening process. To see this property, it is useful to write the incentive constraint as:
u(ciy ;) > w(cj, wilj/w;). Crucially, this incentive constraint involves the wage ratio.
Whenever the taxation of intermediate goods affects this ratio, production efficiency
may no longer be optimal. When intermediate goods are not separable in production
from the two labor types, taxing intermediate goods affects the wage ratio and it might
be optimal to distort production.

The importance of general-equilibrium effects of taxes on wages in shaping the

optimal tax policy was originally emphasized by Stiglitz (1982) and Stern (1982) in

19 An important assumption is that when workers imitate others, they retain their productivity. See
Scheuer and Werning (2016) for a discussion.

20Jacobs (2015) shows that production efficiency is generally not optimal in a model where com-
modity prices are exogenous but wages are not. In his model, goods are produced with commodities
and labor according to production functions that are worker specific. Taxation of commodities has a
differential impact on the marginal productivities and wages of the different workers.
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a Mirrlees (1971) environment. Mirrlees assumes that production is linear in labor,
so taxation does not affect wages through general-equilibrium effects. Stiglitz (1982)
and Stern (1982) show that when production is not linear in labor, the optimal tax
schedule is more regressive than in the Mirrlees model and the top marginal income tax
is negative instead of zero.?! The reason for this result is that it is optimal to encourage
high-skilled workers to exert more effort so as to reduce their relative wages, making

their incentive constraint easier to satisfy.

Relating our results to the literature on the optimal taxation of capital The
public-finance literature discusses several reasons why it might be optimal to tax capital,
introducing intertemporal distortions.?? First, it might be optimal to use intertemporal
distortions to confiscate the initial stock of capital. Second, intertemporal distortions
can be optimal when the elasticities of the marginal utility of consumption and labor
are time varying. Third, intertemporal distortions can be used to provide insurance in
models with idiosyncratic risk. All three reasons are absent in our model.

We consider Mirleesian taxes which allow for lump-sum taxation so there is no
reason to confiscate the initial stock of capital. In addition, we assume that utility is
separable in consumption and labor and the disutility of labor is isoelastic. Werning
(2007) shows that under these conditions and with perfect substitutability of labor
types, the optimal tax on capital is zero. Because our dynamic model abstracts from
idiosyncratic risk, the reasons for capital taxation discussed in Golosov, Kocherlakota
and Tsyvinski (2003) do not apply.

Our results are related to work by Slavik and Yazici (2014). These authors study

optimal taxation in a model with two types of capital, structures and equipment, and

21Rothschild and Scheuer (2013) generalize the results of Stern (1982) and Stiglitz (1982) to an
environment in which occupational choice is endogenous and there is a continuous distribution of
agent types.

22For a recent overview of the literature on optimal capital taxation in a dynamic Ramsey setting
see Chari, Nicolini and Teles (2018).
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no technical progress. They assume that equipment raises the marginal product of
skilled workers relative to that of unskilled workers. In their set up, the optimal tax
on equipment rises over time. In contrast, the optimal tax on robots in our model
converges to zero. As discussed in Section 3, this property reflects the presence of
technical progress in our model.

In sum, the classical results on production efficiency in the public finance literature
depend on one of two key assumptions: (i) the government can tax differently every
consumption good and labor type; or (ii) the environment is such that production
distortions do not help in shaping incentives. Both assumptions fail in our model. On
the one hand, the government cannot design the income tax system to independently
target each type of worker. On the other hand, robots are substitutes for routine
workers and complements to non-routine workers, so a tax on robots affects the ratio

of the wages of these two types of workers.

5 Conclusions

Our analysis suggests that without changes to the current U.S. tax system, a sizable
fall in the costs of automation would lead to a massive rise in income inequality. Even
though routine workers keep their jobs, their wages fall to make them competitive with
the possibility of automating production.

Income inequality can be reduced by raising the marginal tax rates paid by high-
income individuals and by taxing robots to raise the wages of routine workers. But this
solution involves a substantial efficiency loss. A Mirrleesian optimal income tax can
reduce inequality at a smaller efficiency cost than the variants of the U.S. tax system
discussed above, coming close to the levels of social welfare obtained in the first-best
allocation.

An alternative, less ambitious, approach is to amend the tax system to include a

transfer that is independent of income. The desirability of this type of universal basic
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income system has been debated since Thomas More proposed it in his 1516 book,
Utopia. With this transfer in place, it is optimal in our model to tax robots for values
of the automation cost that lead to partial automation. For values of the automation
cost that lead to full automation, it is not optimal to tax robots. Routine workers
lose their jobs and live off government transfers, just like in Kurt Vonnegut’s “Player

Piano.”

6 References

Acemoglu, Daron and David Autor. “Skills, tasks and technologies: implications for
employment and earnings.” in Handbook of Labor Economics, vol. 4B, edited by Orley
Ashenfelter and David Card, chap. 12. Elsevier, (2011): 1043-1171.

Acemoglu, Daron and Pascual Restrepo. “Robots and Jobs: evidence from US labor
markets.” mimeo, Massachusetts Institute of Technology (2018a).

Acemoglu, Daron and Pascual Restrepo. “Automation and New Tasks: The Impli-
cations of the Task Content of Technology for Labor Demand.” mimeo, Massachusetts
Institute of Technology (2018b).

Ales, Lawrence, Musab Kurnaz, and Christopher Sleet. “Technical change, wage
inequality, and taxes.” American Economic Review, 105(10) (2015): 3061-3101.

Atkinson, Anthony Barnes, and Joseph E. Stiglitz. “The design of tax structure:
direct versus indirect taxation.” Journal of Public Economics 6.1-2 (1976): 55-75.

Autor, David H., David Dorn, and Gordon H. Hanson. “The China Syndrome:
Local Labor Market Effects of Import Competition in the United States” The American
Economic Review, Vol. 103, No. 6 (2013), 2121-2168.

Autor, David H., Frank Levy, and Richard J. Murnane. “The skill content of recent
technological change: An Empirical Exploration,” The Quarterly Journal of Economics,
Vol. 118, No. 4 (2003), pp. 1279-1333.

Chari, V. V., Juan Pablo Nicolini, and Pedro Teles. “Optimal capital taxation

41



revisited,” manuscript, Federal Reserve Bank of Minneapolis, (2018).

Chen, Yiqun G. “The Rise of the Machines and the U.S. Labor Market,” manuscript,
(2016)

Cortes, Guido Matias, Nir Jaimovich, and Henry E. Siu. “Disappearing routine jobs:
who, how, and why? 7 Journal of Monetary Economics, Volume 91, (2017): 69-87.

Diamond, Peter A., and James A. Mirrlees. “Optimal taxation and public produc-
tion I: production efficiency.” The American Economic Review 61.1 (1971): 8-27.

Golosov, Mikhail, Narayana Kocherlakota, and Aleh Tsyvinski. “Optimal Indirect
and Capital Taxation.” Review of Economic Studies, Vol. 70 (2003), 569-587.

Gomes, Renato, Jean-Marie Lozachmeur, and Alessandro Pavan. “Differential tax-
ation and occupational choice.” The Review of Economic Studies (2017): rdx022.

Greenwood, Jeremy, Zvi Hercowitz, and Per Krusell. “Long-run implications of
investment-specific technological change” American Economic Review 87.3 (1997): 342-
362.

Guesnerie, Roger. A contribution to the pure theory of tazation. Cambridge-UK:
Cambridge University Press, 1995.

Heathcote, Jonathan, Kjetil Storesletten, and Giovanni L. Violante. “Optimal tax
progressivity: An analytical framework.” The Quarterly Journal of Economics 132.4
(2017): 1693-1754.

Jacobs, Bas “Optimal inefficient production,” manuscript, Erasmus University, Rot-
terdam (2015).

Mirrlees, James A. “An exploration in the theory of optimum income taxation.”
The Review of Economic Studies 38.2 (1971): 175-208.

Naito, Hisahiro. “Re-examination of uniform commodity taxes under a non-linear
income tax system and its implications for production efficiency.” Journal of Public
Economics 71 (1999): 165-188.

Ramsey, Frank P. “A contribution to the theory of taxation.” The Economic Journal

37.145 (1927): 47-61.

42



Rothschild, Casey and Florian Scheuer. “Redistributive taxation in the Roy model,”
The Quarterly Journal of Economics, Volume 128, Issue 2, (2013): 623-668.

Saez, Emmanuel. “Direct or indirect tax instruments for redistribution: short-run
versus long-run.” Journal of Public Economics 88 (2004): 503-518.

Scheuer, Florian. “Entrepreneurial taxation with endogenous entry.” American Eco-
nomic Journal: Economic Policy 6:2 (2014): 126-163.

Scheuer, Florian and Ivdn Werning “Mirrlees meets Diamond-Mirrlees,” Working
paper No. w22076 (2016), National Bureau of Economic Research.

Slavik, Ctirad, and Hakki Yazici. “Machines, buildings, and optimal dynamic
taxes.” Journal of Monetary Economics 66 (2014): 47-61.

Stern, Nicholas. “Optimum taxation with errors in administration.” Journal of
Public Economics, 17:2 (1982): 181 - 211.

Stiglitz, Joseph. “Self-selection and Pareto efficient taxation.” Journal of Public
Economics, 17:2 (1982): 213-240.

Werning, Ivan. “Optimal Fiscal Policy with Redistribution.” The Quarterly Journal
of Economics, Vol. 122, No.3 (2007), pp. 925-967.

43



A Appendix

A.1 The first-best allocation

We define the first-best allocation in this economy as the solution to an utilitarian wel-
fare function, absent informational constraints. This absence implies that the planner
can perfectly discriminate among agents and enforce any allocation. The optimal plan

solves the following problem

W = maxw, 7, [u(c,, ;) + 0(G)] + wpmy, [ulen, 1) +v(G)] .

11—«

m 1 B m
TG+ Tpen + G < A [/ xfdi +/ nfdz} (Tnln) — gb/ xidi, [,
0 m 0
1
/ nidi = m.l., [n].

m

The first-order conditions with respect to n; and z; are

m 1 177&*1
p(l—a)A [/ xfdi +/ nfdz} (Tpln) 0™ =m, Vi€ (m,1]
0 m
m 1 177&*1
(1—a)A [/ xfdi +/ nfd@'] (Talp)* 20"t = ¢, Vi€ [0,m).
0 m

The first equation implies that the marginal productivity of routine labor should be con-
stant across the activities that use routine labor. This property means that (1 — m)n; =
mrl for i € (m,1] and n; = 0, otherwise. The same property applies to robots used in
the activities where they are used, x; = x for i € [0, m] and z; = 0, otherwise.

To characterize the optimal allocations we replace n; and x; in the planner’s problem,

which can be rewritten as

W = max w, 7, [u(c,, ;) + 0(G)] + wumy, [ulen, 1) +v(G)] .

V] = ome

.

7TTCT+7TnCn+G§A|:mJJp+(1—m)<1
-m
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The first-order conditions with respect to x and m are, respectively,

l-a_ 1

(1-a)A [mmp +(1—m) ( ol )p] T ONewrl =g,

1-m

l1—a
St S S
I (0

T R ST

The ratio of these two equations implies that if automation is positive, m € (0, 1), then

z = 7.l /(1 —m). Using this condition, we obtain

W = maxw,m, [u(c, ) + 0(G)] + wymy, [u(en, 1) + v(G)].

7l

) —om
) o

The first-order condition with respect to the level of automation implies that

Tl

ﬂrcr+7rncn+G§A(
1—m

1 l1—a o 7Trlr
Y, (L) (nln) _¢(1 " m)?

(1—@)AW

Y

) }I/Q Tl
)

-0 —1_
cm {A@—@ ol

provided that m is interior. Then,

Qb 1/a Nr
mzm&x{l—[m} Nn,O}

Furthermore, the first-order conditions with respect to ¢, ¢,, I, [, and G are

wruc(cra lr) = M,

Wnuc<cna ln) = M,

wrty (e, ) > Ml (1—-a)(l=m)Y,
ﬂ-’r T
aY
wnUl(Cn, ln) - :uﬂ_nlna

9'(G) = p.



The first-order condition with respect to N, is presented with inequality, because the
constraint N, > 0 may bind when automation costs are low. The combination of the

first two equations implies that
wruc(cra lr) = Wnuc(cna ln)

The optimal marginal rates of substitution are given by the combination of the marginal

utility of consumption and leisure for each individual

w(cr, 1) Y
WG 7) 5 (1~ )1 — m)—
UC(ler> o ( a)( m)ﬂ'rlr7
w(cn,ln) Y

Ue(Cyln) by

Finally, from the first-order conditions for G and ¢, it follows that
9'(G) = wd (). (43)

A.2 Proof of Lemma 1

In an equilibrium, robot producers set the price of robots equal to their marginal cost

pi = ¢. (44)

Optimality for final goods producers implies that

Tl ;
v, = i€ LO,m], (45)
0, otherwise
Tple 1
TLZ' — 1—m? 7 E ('m7 ]7 (46)
0, otherwise
(1+7,)0 Ve nl,
m max{ {(1—04)14 Wnln’() ) (47)
m 1 e
Yy=A {/ xfdi + / nfdz'] (mln)® (48)
0 m
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TrT’ '
Y
W, =« : (50)
Trln
The resource constraint is
TrCr + Tpen + G <Y — / Ox;, (51)
0

We can let equation (44) define the price of robots, equation (45) define x;, equations
(46), (47) and (48) determine n;, m, and Y, respectively. Assuming that m is interior,
the wage equations (49) and (50) can be written as (11) and (12). These equations can
be used to solve for the equilibrium wage rates. Combining the results above, we can
write the resource constraint as

11—«

A1 —a)= 7, +a

11—«

[(1+7)¢] =" all+ )
Replacing the wage rates we can write

TCp + Tpen + G < « Tplyn + T,

Te + @ TrWyl,
a(l4+7,) 1+7,

This derivation makes it clear that the resource constraint (52) summarize the equilib-

TrCp + Tpen + G < mpwnly, (52)

rium conditions of the production side of the economy.

Household optimality requires that
u(cj, ;) >u(el), V() :ec<w;il—T(wl).

The following incentive constraint are necessary constraints

w
naln Z ra_rlr
u(Cnyln) > u (c " )

Wp,
> — .
u(c, ) >u (cn, ” ln)

T

These are also sufficient conditions, because the planner can set the tax schedule 7°(-)
such that for all Y & {Y,,, Y,.} the allocation is worse for both agents than their respective

allocation. This is done by setting

T(y) = y — max {C|U(Cz‘a l;) > u <C7 i) , for i = r,n} .
w

i
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A.3 Proof of Proposition 1

The allocations solve the original optimization problem, or equivalently they solve
W(r,) = max m.w,u(cy, 1) + muwpu(cn, l,) + v(G)

subject to

Assume that the routine IC constraint does not bind, then 7, = 0. The envelope

condition is

S dlogwn 1—a
o\ dlog (w,/wa) 1wl | Tl gf o+ )
W’(Tx) = —NhTpU; (Cr, ’LU_ 7’) dlog E;U“{w )) 1+ z H a(lu—;’—lzp dlloli(gl;— " -
Wy 0og T Ty Wp +7Tr (1+T‘I'a:)2 dlog(1+7) B 1i|

Using the wages we have that

dlogw
wy = ¢(1+Tx):>Wg+TTm): ;

B Al/a(l—a)l% dlogw,  1-a
R (1+7)¢] = dlog(1+7.) o’
wo _ [(4m)de | dlogw/w, _ 1
w, aAl/a (1_04)1%& dlog(1+71,) o

Plugging these into the envelope condition we obtain

W(r,) wrl 1 wrlr_i_ ; Te + 1—0z+1—oz
Tx = —MhTrl Cry — by T Wy ln -
K ! n a(l+7,) w, a a(l +71,)? e T+«
1 Wy wyl, T, 1—a«
= V0~ | 7w | G, _lr - /”annln
a(l+7,) n Wy, 1+7 «
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Because p > 0 then if 7, < 0 we obtain that
W'(r,) >0,

so that the planner always improves by marginally increasing 7,. Furthermore, since
optimality implies that W’(7,) = 0 then the optimal tax on robots verifies that

w. wyl
Te o M <_ul (Cra w_:bl7"> u:nr)

1+7, 11—« Pyl

The first order condition with respect to [, implies that

M (c wr, ) wyl, Op Ty (Cry 1) 1 + %ﬁf _ TPl [1 B Or (—uy (¢, 1))

__u =
: wy Wy, Tn U ¢
where W, = w,/u. Replacing this in the optimal condition for 7, we obtain
. o mol, . O (—uy (e, 1))
1+7, 1—amw,l, 1) '

A.3.1 The full automation case (m =1, [, =0)

If the optimal plan features [, = 0 then it must be that [, > 0. This result implies that
1 = 0. From the envelope condition we can see that

T. 1—a«

W'(1,) =
(T) 1+7 «

a Tl —0& 7, =0. (53)

Ca(l+7,
A.4 Model with simple taxes

The competitive equilibrium for this economy is characterized by the following set of

equations

Cn = A (wnly) ™7 =\ (O‘Y) 1_7, (54)

Ty

—Ul(Cn, ln)ln o

A = A=) () (55)
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T
—UZ<C7~, lr)lr 1
e 1 — v
Uc(Cr, T) ( 7) (wrlT) ) (57)
= m 1 o (b(l + Tx) 1/CY 7Trl (58)
m = ax (1—0{)14 Wnln, )

AL T (mal)™, if m=0

Y= { by, i m >0 (59)

A(m ) " (maly)®, if m =0 }

Tzt Wy Ty 3
wnﬂ'nl”a(l—i-rx) + S5, if m>0

m%+mq+G§{
where w, and w, are given by (12) and (11), respectively.
Taking the ratio between equations (54) and (56), we can see that a necessary
condition is
o (1—a)1—m)m, """ (1—a)m (¢ +7)\"" md, o
— = —} @cr:cn[ —( ) ] . (61)

Cn « T, a mm \(1-a)A Tnln

The conditions (21), (22), (23a) and (16) are necessary and sufficient for an interior
automation equilibrium in terms the allocations {¢,, .., ¢,, l,,, G} and the tax parameters
{72,7}. They are necessary because they follow from the equilibrium conditions. They
are sufficient because, given a solution for {c,, [, c,,1,, G} and {7,,~v} which satisfies
the constraints, the other remaining conditions can be satisfied by the choice of the
remaining variables. In particular, equations (12) and (11) can be satisfied by the
choice of w,, and w,, respectively. We can set A such that

1 —uy(Cpy )y
(1 =) (walp)' ™" telcns ln)
which satisfies (55). This choice of A combined with (23a) also satisfies (54). Choosing
A in this way and combined with (21) implies that (57) is satisfied. Satisfying (57) with
this choice of A also implies that (56) is satisfied. The conditions (58) and (59) are used
to solve for m and Y. The condition (60) is the same as (16).

A=

Y
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We now derive equation (24). The Ramsey planner solves the following problem

max w,m,u(c, 1) + wpmpu(cn, 1) + v(G),

subject to

)\7‘ c\btr, lr s - Oa
M weler ey + S
’LL[(Cn, ln)ln
)\n c\tny ln n - 0’
M wlen e + 7
W] mer + e, + G < wnﬂnlnoﬁ—ii) + ompl,.
The first-order condition with respect to 7, is given by
o 17
¢(1+7-93) lr
n (1-a) ((1—a)A) Tn 1—7 dw,, Ty + @
0 = —c, Toln
Cr o Oé(l +7_x) d’Tx Oé(l +Tx>
n 1—7 wpml, [ dlogw,
0 = —¢ - 1—
et Trai ) |degi ) T I

0 = Loy (1— )+ pnTnn )Oé) {_T +a+1}

Cr (1+ 7,
l—a 7, ™ a n(l-vy)

1-— - n nln Ang - ’
n(l—7) HWnT 1+7 147 1—apw,ml,

A.5 Simple taxes with a lump-sum transfer

+ Wy, Tty

The conditions are necessary as they follow from manipulations of the necessary condi-

tions for an equilibrium. Sufficiency is established as follows. Let {c,, ., ¢y, l,, G} and

{7z,7,w} denote some allocation that satisfies the conditions

’U,l(CT, lr>lr

ue(cry ly) (er — Q) + -

=0,
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ul(cm ln>ln

Uc(cny ln) (Cn - Q) + ﬁ = 07
1—y
(1—a)m, (o(1+ 1) L L,
r Q= n Q - 5
¢ (c ) a mm \(1-a)A Toln
Tr + & Wy Ty,

rCr ntn G< nnln .
MrCr & Mo + G = W all+7,) 1+,

First, let us set w, and w, according to their definitions (11) and (12), respectively.

Now set Y, A\, €2 and m such that

Yy — 7'['nu}nln7
(0%

—Ul(Cn, ln)ln
Ue(Cny 1) (1 =) (wnln)l_’y’

B o1+ 72) La Tl
m = max{l— [A(l—a)] 7Tnln,()}.

A =

and note that

TpWpln — mrwpl, Thwyly, 1 T Wyl
Ve e T | T
« o mwl, d(1+7) 1% 7ol —a)(l—m
(1-a) |:A(17a):| Tl

To show that the conditions for optimality of non-routine households are satisfied, we

note that
ul(cn7ln)ln
Ue Cn,ln Cn—Q + ——=0
(ensl) (e = ) + 2052
)l
c, = — U[(Cn, n) n + Q

Ue(Cny ln) (1= 7)
and by definition of A we obtain

Cn = Mwpl,)'™7 + Q.
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Now to show that the conditions for optimality of the routine household are satisfied,

we note that the no-discrimination constraint implies that
1—y
e (gt e g)
™ (1-a)A Tnln

(2)"

(1—a)(1—m)y>1‘7

Tr

17
av)
Tn

which shows that the budget constraint is satisfied. Furthermore, from the imple-

cr—9:<cn—9)(

:(Cn_

cr — Q= Mwyl,)™? ( = Mw, )7

mentability constraint

)l
ue(cr, 1) (e, — Q) + ul(%’;)?“

ul(cra lrﬂr
uc(cr, 1) (1 —7)

=0

S o —0=—

and using what we have found above

ul<cml7‘)lr 1—
— = MNw,l,) 7.
wlen ) (=) k)

which shows that the budget marginal condition is also satisfied.

The problem of the government is
max w, (¢, 1) + wpmpu(cn, b)) + v(G),

subject to

AV
0] weles, ) (e — Q) + M o
—7

1—
((1—a) (¢(1+m)>l/a mr) ’

n T 1-a)A Tnln
|:_:| CT_Q:(C7L_Q) < >1'Y !

(9] u(cj,l;) > u(€2,0)
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T, +Q

[/L] T-Cr + TpCp + G S wnﬂ-nlnm + ¢7Trlr-

The first order condition with respect to 7, is given by

1—
((1—a> <¢<1+m>>”“ u) !
(1-—a)A Tnln 1— 1
Q) v

Ty

n
0 = Lc, -
c, (c (&)17 a 147,
n dwy,, l T. +« n I 11—«
Tntbn WnpTpln =>4
lan, ™ el + 1) a(l +7,)2

L=y (¢ —Q\  wyml,(1—-a)
"a <cr)‘“ ltm)
w  a nl=7) (-0
1+7, 1—a,uwn7rnln( cr )

A.6 Proof of Lemma 2

With the definition Uy we can write the incentive constraint for the extensive margin

choice as

Ug — Op > Uy — Op.
Now, we use the fact that if 8,6’ € ©; then Oy = Oy and the two incentive con-

Up > Uy

.
66,>L97

U@/ — 09/0/ > Ug — 090/
which necessarily implies that Uy = Uy, and we define this as U; for i = r, n.

For the next part, of the proposition we note that if we define

0 =U, — U,

we have, by construction, that for all 8 < 6*
Un - 9 Z Ura

and for all 8 > 6*
U,—0<U,.
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A.7 Proof of Proposition 2

The optimal plan, for a fixed 7., solves the following optimization problem
0 o*
w(0)dF(0) — / w(8)0dF(0) + v(G),

* —00

o0

W(r,) = maxU, /

—00

w(0)dF(0) + U,,/
subject to

- (0)] Un 2 u

e + YydF' (0
(4] /@(:HdF(e)JrG(e)g/@nY@dF(e) a(iinﬁf@rHTI( ).

The variables inside squared parenthesis define the Lagrange multipliers. Suppose, to-

wards a contradiction, that we have found a solution {{cg,ys}, U, Uy, 0*} where either:
e y(0) # y(¢) for some 0,6 € O,,
e y(0) # y(¢) for some 0,6 € O,

Take w; > wj, and let’s analyze first the case where y(6) # y(6’) for some 6,6" € O,.
Define

T inf 0 3

yi = jnf y(6)

and note that by single-crossing for all y(0) > y; the incentive constraint condition does
not bind. For that reason, the first-order conditions for such 6 are given by

0. ( fu—) 5o = p

)

o <09, %) iw(ﬁ) = ul;.
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The combination of this two conditions plus the constraint that all 8 € ©; must share

the same utility level yields a unique solution for ¢y and yy:
Uuj (Cea %ﬂ) wLZ
Ue <097 112_91)
U (ce, %> = U,.
Wi

If there is no @ such that y(é\) = y; we have reached a contradiction. If there exists 0

such that this is true then the first-order conditions are

AN
U (Ce,%) w(@\)mMi; = W

- Fiv

Y
E i cl|Co,; Yo
[ i il wy )
yé\ - 1/5 1 FZ'
UC Cg, w ~ U\ Corws T]
%D(H) — i 5\ 1
u(eqat) o

The single-crossing property implies that

Yg ) 1 Yo | 1
—U <C€7 w—i) w0, . —Uu (Cg, w—z) i
ZL1li=

Ys N ’
0 Yo
Ue (657 wi) Uc <007 wi)

Note that given our assumptions on the utility function

() ()
au > 0, and - > 0.

oy oc -
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Therefore, if y5 < yy then to have a higher marginal rate of substitution it requires that
cz < cp. This is impossible since utilities must be equal, thus reaching a contradiction.
The argument for agents of occupation j such that w; < w; follows the same lines,

with the change of taking

y; = sup y(0).
9€@j

A.8 Simple Taxes with Lump-Sum Transfers - The household’s
problem with regressivity

In this section of the appendix we discuss the problem of the household when the income
tax function is regressive. Under the proposed tax function with a lump-sum transfer,

a household which has a wage rate w solves the following problem
max u(c, 1) subject to ¢ < A (wl)™7 + Q.

For simplicity assume that preferences are given by

l1+u

u(c, ) zlogc—CleV7

for (,v > 0. The solution to this problem satisfies the following conditions:

cClV = (1—~) w177, (63)
c = Mw)' 7 +Q. (64)

Note that if the tax system is regressive, v < 0, and lump-sum transfers are positive,
2 > 0, then as [ — 0 both the right- and left-hand sides of (63) converge to zero. As a
result, a corner solution may be the optimal choice.

This case actually happens in our solutions to the simple income taxes with lump-
sum transfers problem. Indeed, when the routine worker drops out of the labor force, it
is optimal to set the lump-sum transfer up to a level in which the non-routine worker is

exactly indifferent between the corner solution, with ¢ = 2 and [ = 0, and the interior
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solution, with ¢ >  and [ > 0. This is easiest seen in the following figure. In this
figure we plot both the budget constraint for this case, and the indifference curve for

the non-routine worker with the highest associated level of utility.

Consumption - ¢

A.9 Endogenous occupational choice - The first-best alloca-
tion

The first-best planner in this environment solves

max/ [u(cg,lp) — Opb] dF (0) + v(G), subject to
S}

m 1 liTa m
5 / cof(0)d0+ G = A [ / i + / nipdz} N — ¢ / vidi
(S 0 m 0

] N, = /@ Lbf(0)d0, and [\ / i — /@ o f(0)d0 = N,.

m

The first-best allocation in this economy features production efficiency. This means

that if m is interior

N .
3 0
n i b

0, otherwise
0, i €[0,m)]
n;, =
ljf’;n , otherwise
1/a N,
m=1- |0 | N
(1-—a)A N,



If two agents choose the same occupation, they have the same productivity. So,
the first best chooses the same allocation in terms of hours of work and consumption.
Then, define C; and NV; the bundle given to the agents that are in occupation i = r, n.

Using these optimality conditions we can rewrite the optimization problem as follows

max/ [u (e, l,) — 0] dF (0) +/ u(ep, 1) dF (0) + v(G), subject to
On Or

8 /@ GdF (0) + /@ CdF (6) 4G =, /@ LdF () + / LdF (9)

Or
How does the decision of whether an agent becomes routine or non routine looks

like? If the planner allocates household 6 to a non-routine occupation, the contribution

to social welfare is
u(cn, ly) — 0+ X(wply, — ¢)

If the planner allocates the household to a routine occupation the contribution is instead
u(cr, )+ A(wl, —¢) .

Clearly, the planner should allocate household 6 to a non-routine occupation if the first

is greater than the second,
0 < XN(wply, — ¢n) — (Wil — &) +u(cn, ln) —ul(e,l.) = 0.

This equation defines a threshold rule, 8*. All households with 6 < 6* should become
non-routine workers and those with 8 > 6* should become routine workers. This thresh-
old rule balances the private costs of choosing a non-routine occupation for household
0,

(e, ) —u(en,ly,) — 0,

with the social benefit of generating more consumption goods

Mwn Ny — Cp) — (w, N, — C,)] .
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We can rewrite the optimization problem for the social planner as follows

o+
{cn,N?}&},(Nr,e*}F(e Yu (Cny b)) +[1 = F(09)]u (e, 1)+ g(G) — /_OO 6f(0)do, subject to.

N F(0%)cn+ [1— F(07)] ¢, + G = wo F(0°)l + w, [1 — F(67)]1,.

The solution to this optimization problem satisfies the following optimality conditions

—uy (Cny )
Ue (Cpyln) Wno
—U (Cm lr) >
ue (Cryly) Wrs

Ue (C'm ln) = Uc (Cra lr) )

0" = X(wnly — ) — (Wl — )] +ucn, ln) —ul(e, ).

Using the fact that at the optimum ¢,, = ¢, and that Aw; = —u; (¢;,[;), we can solve for

the threshold rule as a function of (¢,,(,) and (¢, 1,.)
0" = [U (Cnu ln) — U (Cn7 ln) ln] - [U (CT‘7 lr) — W (Cm lr) lr] .

A.10 Proof of proposition 3

Let us define 'y, the multiplier for period ¢ resource constraint, and 7, the multiplier
for the incentive constraint of non-routine households. The first-order conditions with

respect to ¢, and c,; are given by

5tﬂtw”u/(cnvt) (1 + Z—:) = [,
8w, () (1 - Z—’:) =t
These conditions imply that
u'(Cn,t) _ u'(¢r) M

5U’(Cn,t+1) B BU’(CT,tH) B ﬂﬂt—}-l‘
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Since the first order condition with respect to X; 1 is

Dy = 5Mt+1[Fr(t + 1) + ¢t+1(1 - 5:r)]

M o, Frt+1) F.(t+1)
h l, LAY L+ 1),
+ ﬂ ( ) ’H”l F (t _|_ 1) 7t+1€Fr/Fn7 ( + )

Xy \Fut+1 n
then
U (cnt) _ u'(crt) _ Fo(t4+ 1)+ ¢rpa (1 — 0z)
Bu(cnir1)  Bu/(crper) 0N

Tl ( Fr(t+1) F(t+1)
" r o 1€ R R (T 1)
P10t X1 (Fn(t +1) L F.(t+1) 11 B )

Note that pu; > 0, n,, > 0, and 5wT/wmx(t + 1) < 0. Then, as long as [, ;11 > 0,

U (crt) _ U (Cnt) _ F.(t+1) 4+ ¢r1(1 — 62)
ﬁul(c’r,t-‘rl) Bu,(cn,t-l—l) o '

If, instead, routine workers supply zero hours, ;41 = 0, the optimal intertemporal

: koo
wedge is zero, 7/, = 0.

A.11 Solving the dynamic model

The dynamic Mirrlees plan in section 3 solves the following problem:

0 i 14v 14v
max ; B | wym, [log (ert) — Cl:’i 1/ + Wy Ty, [log (Cnt) — Clz’f - + y log G,
- Ay (Bfhr)
;5 og (en) =75 | 2 gﬁ log (¢r4) = ¢
TpCrt + TnCnt + Gt + 0 Xep1 < 2[X; + ﬁrlm]l_a (Tnlng)™ + @0 (1 — 0x) Xq,
Xop > 0 given
where ?;((?) = 1776‘ (%) First, let us define the level of automation as
_ X
my = m
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It is useful to define the following scaled variables that are constant in the steady state:
Cit = ci,t/e%9¢(t_l), G, = Gt/elea%(t_l), and X, = gthtH/e 9= Using these

variables, we can rewrite the Mirrleesian planning problem as:

i 1+v 1+v
max Z Bt {w,, [log (Trt) — Cl:’i - + Wy T, [log (Cnt) — Cﬁ + xlog G, | , subject to.
_ 1+v
i v (P_a(bt <7—@l"’t > lH>
t = t « Xt+¢(t)7r7‘l7‘,t ’
Z B log (Cn,t) 1 _'_ Y Z ﬁ lOg Crt C 1 +u )

ﬂrér,t + 7TTLEn,t + at + 7t—i—l S Z¢> (Yt + Q_btﬂ-rlr,t)l_a (ﬂ-nln,t)a + (]- - gX)yta
X, > 0 given.

(1-a)?

where 2z, = ed,l—a%, (1—6x)=(1-6x) e‘g?d), and ¢, = (be—gf(t—l—(l—a)) .

We compute the solution to this problem using a modified version of the algorithm

proposed by Slavik and Yazici (2014). This algorithm involves truncating the problem

at time 7" and assuming that a steady state is reached at this terminal time. We set
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T = 300. The problem then becomes

T-1 ll—i—l/ ll—l—u .
max Zﬁt [wrm <log (Try) — (2 > + w, Ty, (log (Cny) — (2 > + xlog G,

— 1+v 1+v
BT ll+l/ ll+1/ .
+1 —3 [wrm <log (Gr) — Cl:L—Ty) + Wy, (10g (Cn) — ng——TV) + xlog Gr | , subject to.

[+ BT L
m > B (log (Cnt) — <1:Ly> 15 (log (Cnr) = ¢ V)

l—a Tnln,t l 1+v
[T¢t <yt+$(t)7rrlr,t> r,t]

vV

gD
L

=

~+~

— _°

S

o2

~—~

o

3

~+

S~—

|

Iy

— 1+v
1+v
1—-a 71—TLl'n,,T
T "o (c )—g[T% <YT+5TMT,T> l”]
1 _ /6 g T‘,T 1 + v Y

[ﬁtﬂt 7TTE7«¢ + Wnen’t -+ 5t + yt—l—l S Z¢ (Yt + at’ﬂ'rlnt)l_a (ﬂ'nln’t)a + (1 — Sx)yt, fOI‘ t = 0, .

) 7TTET,T + 7TTLEn,T + aT S 2 (YT + ETWTZT,T)lia (Wnln,T)a - SXXTa

where 1, 8, and % pr denote the Lagrange multipliers of each constraint.

We initialize the algorithm by computing a stationary solution for a fixed value of ¢
which is equal to its terminal value (¢300). We have eight unknowns: {Er, Cny by 1oy G, 7},
and the multipliers n and p. We solve for these unknowns using the following eight equa-
tions: the incentive constraint of the non-routine workers, the resource constraint and
the six first-order necessary conditions.

In the second step, we maintain the same fixed cost of robots ¢; = ¢s300, but gradu-
ally adjust the initial condition 73. In the first iteration, we set 7; to the solution of
the previous procedure, and then in each iteration we gradually reduce that level until
we reach the target initial condition X (which in our case is zero). We look for the

e s 300 ‘
dynamic paths of {Ejt,éfm L, l;t,Gt,Xt,u;*} and n* which solve the first order-
k) k) k) b t:O
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conditions and the constraints that hold with equality, including the initial condition.
The last solution of this process is used as the starting point for the third step.
Finally, we let the cost of robots vary over time. For each iteration j € {0, ..., T} we
set o = ¢p_jfort=0,....,T—j—1, and {gbf}tT:T_j = {gbt}tT:T_j at their actual values,
and once again look for a solution that satisfies the first-order necessary conditions and
the constraints, including the initial condition. The final iteration of this procedure
produces the paths which solve the first-order condition of our original model. However,
a final adjustment needs to be made to account for the possibility that the quantity of
robots is at the corner with X; = 0. To implement this step, we take the final solution
of this procedure and whenever X; < 0, it sets X; = 0 and recomputes the optimal
path. In the second iteration, if there are negative values in the previous solution we
set X1, X, = 0 and recompute the solution. We proceed in this way until there are no
negative values of X, in the solution. In practice, corner solutions are generally found

only in the earlier periods, when the costs of automation are still high.
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B Figures

Automation

Figure 1: Status-Quo Equilibrium
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Figure 2: First Best
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Figure 3: Mirrleesian Optimal Taxation
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Figure 4: Simple Taxes - Panel A
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Figure 4: Simple Taxes - Panel B
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Figure 5: Simple Taxes & Lump Sum Reb:

ate - Panel A
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Figure 6: W

Frrver 7D
22| St o (5) i
272 M optinal st 0T)
e S e
Snle tnm e s bt (STL)
23
a4l
25|
26
a7l
28
29
Sk
Bl - —
I
2000 2050 2100 250
Figure 7: Consumption Equivalent
CE - Rowiue Workes
Fist e (75) ]
— Sismple tixes & hump-susm sebate (STL] ]
. pmmmm—m ==
i
2000 205 2100 2150
CE - Nonwroutine Worken
Z St o (50)
27 i optimattsaion (0T)
e Simpl s (5T A
T bl e & s e et (STL)
e
S
B
B .
T |
2000 2050 2100 2150

69



m

Automation

Figure 8: First Best with Occupational Choice
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Figure 9: Mirrlees Optimal Taxation with Occupational Choice (Panel A)
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Figure 9: Mirrlees Second Best with Occupational Choice (Panel B)

Share of Non-routine Workers
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Figure 10: Mirrleesian Optimal Taxation - Dynamic Model
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